EARAZROREIERT — 2 N— XBISY —F 202154858 (B) 1EEZ&HEIH

IR C22# R —f% ‘ (XM&] W ‘ (R — | 4 (£) 14000 &
[AE4£] 1% :320,000 3 ~ 23#&:102,000  ~ 3#&:58,000  43#%:38,000H” . 53&:26,000H
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
1 0| XXITUTUT 1 — 44 ggﬁﬁ%— 1:(3_0).5 9-6-3-1 |38.4| — 1 468 E%g% (BEE)
QUFNALNT b B TAN— 2 O |k s
N FLILE— : =G = ROFEE (BHE
ol7lg|71T7LETIFUT R ) B I 28 |memm R
L:ANT =TI B:TATLTI LR IR
s o4 | BIBEE 1:32.6 4-4-5-5 | 40.0| — 9 447 | 1EMRBIE (BHE)
3f7|9 | T1¥>7=7 56.0 ) -2 ) 77-2bEa
:aZ /XLy b BIIAL/T FRAEW
S N e BB 5 132, 77— . — HFLE— (BEE)
N BB i o4 L (11312/29) 7-7-7-6 | 40.0 5 ::1‘;4) i
L:hL>TSy el BIAYCTLT FH T
o e HLEFRER :33. —3-4- . - Bl (BEHE)
5|11 |n—E=—K5T> o4 1% 1(313)1 3-3-4-4 | 40.9 4 :1:113) /T\%Z;#
LT TANNVER B4 Fa-K BINZT 7 — L
T © ) 1|25 58 : —8-8— = ROFEE (BHE
N RESOPZCEY 4| Hle 1.(333).7 8-8-8-9 | 40.4 6 (4_165) he= ( )
RixFa1=dr—2 B:vOuHtAS L HET7— L4
5 . it 9 | FIHRNE 1:33.8 10-9-9-8 |40.4| — 11 439 | BEBX (BHE)
7R 3| YT bL—X 54.0 (7€) (13) | SRRE ST
L:VvA4T7obyvh— BR-—F1—XXXH puiie ]
; 4 4 | FE3AE 1:33.9 1-1-1-3 | 42.3| — 3 436 | RAREK (BHE)
8l5|5| P—HKUFUT 4T 54.0 (3/4) (1) | EEEMS
R:797>FyVy BRV/HEAT= =] 27
B S 5 # 4 | FEBEE 1:34.2 5-5-6-7 | 41.5| — 7 472 | FREEA (BHE)
EH 7 erenn o ) (o) |BE—Z
L:ZENWN=9 B:N—bht1—T Eld=: |
o, = & EE= :36. -11-10- . = WilE— (BHE)
olsli| v>5 122310 o4 s (193{6% 11-11-10-10| 40.6 8 (4_633) %§%ﬂ
R:TwRE&yA B:TUUTL LA paiutie
: B4 | KZEIE 1:39.4 6-10-11-11 | 43.5 | — 10 | 440 |fEHRIZ= (BEHE)
111810 RFILFx 52.0 (21 4) (-8) (’F;) TJ7—AMEYI>
RTIRAFIEI B:T7 4—t—N v=bkie ]
® 1 —F—EBIERL
13=7r= 5,8,1,9,7,10,4,6,2,3,11
23 =7= 5,8,1,9,7,2,4,6,3,10,11
30—7+— 5,8,2,1,9,7,4,6,3,11,10
41—+ — 2,8,5,1,9,4,7,3,6,11,10
[ N3
BB 2 110 714K 2-8 170H e 2-7 230 3JEHE 2-8-9 3,930/
8 B 2 110 2-9 750M B = 2-8 240M K31 2-8-9 5,190
8 140/ 8-9 2,010 B H 2-8 310
9 530M

ARICOVWTRDTEEERROODE. TR LI,




